

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

October 31, 2019 11:00 AM Call Order: 002 Contract: E6M61-R0

06191031 Letting: District: Counties: MIAMI-DADE Fed Aid No: N/A

District 6 365 CALENDAR DAYS Contract Time: Project(s): 42829347201 (*)

Contract Desc: SIGNING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SAFETY SYSTEMS BARRICADES, CORP	Responsive	Winning bid	\$105,062.00	100.00%
2	COMPLETE HIGHWAY IDENTITY, INC.	Responsive	Non-Winning Bid	\$144,873.50	137.89%
3	HORSEPOWER ELECTRIC, INC.	Responsive	Non-Winning Bid	\$181,499.13	172.75%
4	ACME BARRICADES, L.C.	Responsive	Non-Winning Bid	\$273,400.00	260.23%
5	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Non-Winning Bid	\$302,781.29	288.19%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids Page 1 of 8

Letting: 06191031 October 31, 2019 **Call Order:** 002 **Contract:** E6M61-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 42829347201 (*)

Contract Descr: SIGNING MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a Work Order Driven contract that consists of providing labor, equipment and materials to install, maintain or repair existing signs and/or furnish and install new signs on various state roads in Miami-Dade. The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of Letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work. The award will be made at the budgetary ceiling amount of \$ 125,000.00.

Visit www.bidx.com for more information.

DIVERSITY ACHIEVEMENT: MINORITY BUSINESS ENTERPRISE (MBE) UTILIZATION

The Department, in accordance with Title VI of the Civil Rights Act of 1964, 42 USC 2000d- 2000d- 4, Title 49, Code of Federal Regulations, U.S. Department of Transportation, Subtitle A, Office of the Secretary, Part 21, Nondiscrimination in federally-assisted programs of the Department of Transportation issued pursuant to such Act, hereby notifies all bidders that the Department will affirmatively ensure that in any contract/agreement entered into pursuant to this advertisement, minority and disadvantaged business enterprises will be afforded the full opportunity to submit bids in response to this invitation and will not be discriminated on the basis of race, color, national origin, or sex in consideration for an award.

The Department encourages small, minority, women, and service-disabled veteran businesses to compete for Department contracts, both as "Vendor" and as subcontractors. The Department, its vendors, suppliers, and consultants should take all necessary and reasonable steps to ensure that small, minority, women, and service-disabled veteran businesses have the opportunity to compete for and perform contract work for the Department in a nondiscriminatory environment. For this contract, the Department has a goal of 20% commitment for Minority Business Enterprises (MBE) participation. Proposers are requested to indicate their intention regarding MBE participation on the MBE Planned Utilization form and to submit the completed form with their Price Proposal. The contract vendor will be asked to submit payment certification for MBE subcontractors used.

To request certification or to locate certified MBEs, call the Office of Supplier Diversity, Department of Management Services at (850) 487-0915, or access their MBE directory on the Internet at www.osd.dms.state.fl.us/

		Quantity Units	(1) SAFETY SYSTEMS BARRICADES, CORP		(2) COMPLETE HIGHWAY IDENTITY, INC.		(3) HORSEPOWER ELECTRIC, INC.	
() indicates item is bid as Lump Sum		Cinto	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount



Tabulation of Bids

Page 2 of 8

Letting:	0619	1031 Oct	tober 31, 20	19 Cal	I Order: 002		Contract:	E6M61-R0	
	/ Item ID	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) COMPLET		(3) HORSEPOV IN	VER ELECTRIC, IC.
() indica	tes item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
8	SECTION: 00	001 SIG	GNS						
0005 01 WORK ZOI	102 60 NE SIGN		50.000 ED	1.50000	75.00	0.45000	22.50	2.00000	100.00
	102 74 1 IZING DEVICE: , OR LCD	- TYPES I, II, D	400.000 I, ED	1.00000	400.00	0.65000	260.00	1.00000	400.00
	102 76 OARD / ADVAN ANEL	NCE WARNING	4.000 ED	8.00000	32.00	9.00000	36.00	30.00000	120.00
SINGLE PO	700 1 11 OST SIGN, F&I IP TO 12 SF	GROUND	60.000 AS	315.00000	18,900.00	295.00000	17,700.00	428.57000	25,714.20
	700 1 12 DST SIGN, F&I 2-20 SF	GROUND	15.000 AS	965.00000	14,475.00	750.00000	11,250.00	1,357.14000	20,357.10
	700 1 13 OST SIGN, F&I 1-30 SF	GROUND	5.000 AS	1,075.00000	5,375.00	750.00000	3,750.00	1,714.28000	8,571.40
SINGLE PO	700 1 21 DST SIGN, F&I DEX 11871/700		2.000 AS	1,175.00000	2,350.00	750.00000	1,500.00	1,857.14000	3,714.28
	700 1 50 OST SIGN, REI	LOCATE	5.000 AS	235.00000	1,175.00	255.00000	1,275.00	285.71000	1,428.55





Tabulation of Bids

Page 3 of 8

Letting:	061910)31 O	ctober 31, 2019	9 Cal	l Order: 002		Contract:	E6M61-R0	
	o / Item ID	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) COMPLET IDENTIT			VER ELECTRIC,
() indica	ates item is bid as Lu	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	ı s	IGNS						
	0700 1 60 POST SIGN, REMO	OVE	20.000 AS	10.00000	200.00	10.00000	200.00	14.29000	285.80
	0700 2 14 OST SIGN, F&I GF 31-50 SF	ROUND	10.000 AS	3,425.00000	34,250.00	1,250.00000	12,500.00	6,164.29000	61,642.90
	0700 260 OST SIGN, REMO	VE	5.000 AS	425.00000	2,125.00	150.00000	750.00	928.57000	4,642.85
SIGN PAN	0700 3101 NEL, FURNISH & I MOUNT, UP TO 1		25.000 EA	120.00000	3,000.00	1,050.00000	26,250.00	285.71000	7,142.75
SIGN PAN	0700 3102 NEL, FURNISH & I MOUNT, 12-20 S		15.000 EA	182.00000	2,730.00	1,950.00000	29,250.00	642.86000	9,642.90
SIGN PAN	0700 3103 NEL, FURNISH & I MOUNT, 21-30 S		10.000 EA	245.00000	2,450.00	1,950.00000	19,500.00	571.43000	5,714.30
SIGN PAN	0700 3104 NEL, FURNISH & I MOUNT, 31-50 S		7.000 EA	445.00000	3,115.00	1,950.00000	13,650.00	1,135.71000	7,949.97
SIGN PAN	0700 3106 NEL, FURNISH & I MOUNT, 101-200		1.000 EA	3,400.00000	3,400.00	1,750.00000	1,750.00	3,928.57000	3,928.57
	0700 3601 NEL, REMOVE, UF	P TO 12 SF	25.000 EA	35.00000	875.00	10.00000	250.00	71.43000	1,785.75





Tabulation of Bids

Page 4 of 8

Lettin	ig: 061	191031	October 31, 201	19 Cal	l Order: 002		Contract:	E6M61-R0	
	e No / Item ID	Alternate	e Quantity Units	(1) SAFETY BARRICAD		(2) COMPLET			VER ELECTRIC,
() in	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SIGNS						
0090 SIGN F	0700 3602 PANEL, REMOVE	E, 12-20 SF	15.000 EA	45.00000	675.00	10.00000	150.00	121.43000	1,821.45
0095 SIGN F	0700 3603 PANEL, REMOVE	E, 21-30 SF	10.000 EA	70.00000	700.00	10.00000	100.00	150.00000	1,500.00
0100 SIGN F	0700 3604 PANEL, REMOVE	E, 31-50 SF	7.000 EA	95.00000	665.00	10.00000	70.00	214.29000	1,500.03
0105 SIGN F	0700 3606 PANEL, REMOVE	E, 101-200 SF	1.000 E EA	575.00000	575.00	10.00000	10.00	1,071.43000	1,071.43
0110 OFF-DI OFFICI	E102 10 UTY LAW ENFO ER	RCEMENT	30.000 MH	60.00000	1,800.00	45.00000	1,350.00	75.00000	2,250.00
0115 SIGN F	E700 30 2 PANEL OVERLAY	Y, MULTI PO	20.000 ST SF	19.75000	395.00	15.00000	300.00	28.57000	571.40
0120 SIGN F	E700 30 3 PANEL OVERLAY	Y, OVERHEA	150.000 .D SF	35.50000	5,325.00	20.00000	3,000.00	64.29000	9,643.50
	00	001 SIGNS S	Section Totals:		\$105,062.00		\$144,873.50		\$181,499.13
		Contract G	rand Totals:		\$105,062.00		\$144,873.50		181,499.13

11/18/2019



Florida Department of Transportation

Tabulation of Bids

Page 5 of 8

Letting:	06191031	October 31, 20	19 Cal	l Order: 002		Contract:	E6M61-R0	
Line No / Item Item Descript		Quantity Units	(4) ACME BARF	RICADES, L.C.	(5) SIGNAL TE AND INSTALL			
() indicates iter	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI	ON: 0001	SIGNS		1		1		
0005 0102 60 WORK ZONE SIG		50.000 ED	5.00000	250.00	1.75000	87.50		
0010 0102 74 CHANNELIZING VP, DRUM, OR L	DEVICE- TYPES I, I	400.000 I, DI, ED	0.50000	200.00	1.13000	452.00		
0015 0102 76 ARROW BOARD ARROW PANEL	/ ADVANCE WARN	4.000 ING ED	100.00000	400.00	124.72000	498.88		
0020 0700 1 SINGLE POST S MOUNT, UP TO	IGN, F&I GROUND	60.000 AS	900.00000	54,000.00	516.96000	31,017.60		
0025 0700 1 SINGLE POST S MOUNT, 12-20 S	IGN, F&I GROUND	15.000 AS	2,800.00000	42,000.00	1,565.19000	23,477.85		
0030 0700 1 SINGLE POST S MOUNT, 21-30 S	IGN, F&I GROUND	5.000 AS	3,500.00000	17,500.00	1,931.21000	9,656.05		
	21 IGN, F&I BARRIER 1871/700-013 UP TO	2.000 AS O 12	3,200.00000	6,400.00	1,746.37000	3,492.74		
0040 0700 1 SINGLE POST S		5.000 AS	500.00000	2,500.00	865.00000	4,325.00		

11/18/2019

FDOT

Florida Department of Transportation

Tabulation of Bids

Page 6 of 8

Letting	g: (06191031	October 31, 20	19 Cal	l Order: 002		Contract:	E6M61-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) ACME BAR	RICADES, L.C.	(5) SIGNAL TE AND INSTALL			
() ind	licates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SIGNS						
0045 SINGLE	0700 1 60 POST SIGN	, REMOVE	20.000 AS	100.00000	2,000.00	199.79000	3,995.80		
	0700 2 14 POST SIGN, 7, 31-50 SF	F&I GROUND	10.000 AS	6,000.00000	60,000.00	8,318.09000	83,180.90		
0055 MULTI-	0700 260 POST SIGN,	REMOVE	5.000 AS	1,200.00000	6,000.00	1,748.13000	8,740.65		
	0700 3101 ANEL, FURNI ID MOUNT, U	ISH & INSTALL JP TO 12 SF	25.000 EA	480.00000	12,000.00	250.00000	6,250.00		
	0700 3102 ANEL, FURNI ID MOUNT, 1	ISH & INSTALL 2-20 SF	15.000 EA	800.00000	12,000.00	350.00000	5,250.00		
	0700 3103 ANEL, FURNI ID MOUNT, 2	ISH & INSTALL 1-30 SF	10.000 EA	1,200.00000	12,000.00	600.00000	6,000.00		
	0700 3104 ANEL, FURNI ID MOUNT, 3	ISH & INSTALL 1-50 SF	7.000 EA	2,000.00000	14,000.00	800.00000	5,600.00		
	0700 3106 ANEL, FURNI ID MOUNT, 1	ISH & INSTALL 01-200 SF	1.000 EA	6,000.00000	6,000.00	1,022.62000	1,022.62		
0085 SIGN PA	0700 3601 ANEL, REMO	VE, UP TO 12	25.000 SF EA	100.00000	2,500.00	1,014.00000	25,350.00		



FDOT

Florida Department of Transportation

Tabulation of Bids

Page 7 of 8

Letting: 06191031 Oc	tober 31, 20	19 Cal	Order: 002		Contract:	E6M61-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ACME BARF	RICADES, L.C.	(5) SIGNAL TE AND INSTALLA			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 SI	GNS						
0090 0700 3602 SIGN PANEL, REMOVE, 12-20 SF	15.000 EA	100.00000	1,500.00	1,014.26000	15,213.90		
0095 0700 3603 SIGN PANEL, REMOVE, 21-30 SF	10.000 EA	200.00000	2,000.00	1,144.30000	11,443.00		
0100 0700 3604 SIGN PANEL, REMOVE, 31-50 SF	7.000 EA	200.00000	1,400.00	1,742.45000	12,197.15		
0105 0700 3606 SIGN PANEL, REMOVE, 101-200 SF	1.000 EA	500.00000	500.00	2,548.65000	2,548.65		
0110 E102 10 OFF-DUTY LAW ENFORCEMENT OFFICER	30.000 MH	75.00000	2,250.00	86.90000	2,607.00		
0115 E700 30 2 SIGN PANEL OVERLAY, MULTI POST	20.000 SF	50.00000	1,000.00	106.80000	2,136.00		
0120 E700 30 3 SIGN PANEL OVERLAY, OVERHEAD	150.000 SF	100.00000	15,000.00	254.92000	38,238.00		
0001 SIGNS Sect	ion Totals:		\$273,400.00		\$302,781.29		
-							

Contract Grand Totals: \$273,400.00 \$302,781.29



11/18/2019

Tabulation of Bids

Page 8 of 8

Letting: 06191031 October 31, 2019 **Call Order:** 002 **Contract:** E6M61-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.